SPORTS AUTHORITY OF INDIA (TEAMS Division)

New Delhi, Date: 31st March, 2021

Minutes of meeting held through zoom on 25th March, 2021 under the Chairmanship of Secretary (Sports) to consider the proposal of ACTC for the discipline of Golf for the year 2021-22.

ACTC meeting was held under the Chairmanship of Sh. Ravi Mital, Secretary (Sports) to consider the proposal of ACTC 2021-22 and budget request for Indian Golf Union (IGU).

List of members present in the meeting is at the end.

2. Maj. Gen. Bibhuti Bhushan (Retd.), Director General, Indian Golf Union (IGU), briefly explained the current ranking and performance of the Indian Golf players at Asia level as well as at the World. He also informed the members regarding the Key Result Areas and Milestones set for the Indian Golf players up to 2024, which are given below:

		Senior		*
Competition	Year	Participation	Top 8	Medal(s)
Olympic Games	2021	Yes	Yes	2
Asian Games	2022	Yes	Yes	2
Olympic Games	2024	Yes	Yes	2
		Junior		
Youth Olympic Games	2022	To Qualify for Youth Olympics	Yes	2
Youth Asian Games	2021	Yes	Yes	2

3. Thereafter, ACTC 2021-22 proposal for the discipline of Golf was taken up for consideration and total budget of **Rs. 2.04 Cr.** was approved up to Mar, 2022:

S. N	Purpose	Amount (in Rupees)
1.	National Coaching Camp for Senior & Junior (Annexure 'A')	Rs. 9,10,510
2.	International Competition for Senior & Junior (Annexure 'B')	Rs. 69,13,540
3.	National Championship for Senior, Junior and Sub-Junior (Annexure 'C')	Rs. 22,00,000
4.	Remuneration - Coaches & Support Staff (Annexure 'D')	Rs. 25,60,000
5.	Equipment Consumable & Non- consumable for Senior & Junior (Annexure 'E')	Rs. 77,66,000
	TOTAL	Rs. 2,03,50,050

31/3/2021

1 1 2021 31 3 2021

- 4. SAI may make minor modifications as per actual request within the approved budget.
- 5. The calculations have been done as per the existing norms of Scheme of assistance to National Sports Federation.
- 6. The meeting ended with a vote of thanks to the Chair.

(Radhica Sreeman)

Executive Director (TEAMS)

Radhica Sreeman
Executive Director
Sports Authority of India
J.N. Stadium (East Gate)
New Delhi

LIST OF ATTENDEES

- 1. Sh. Sandip Pradhan- D.G, SAI
- 2. Sh. L. S. Singh- Joint Secretary (Sports), MYA&S
- 3. Sh. Atul Singh, Joint Secretary (Sports Development), MYA&S
- 4. Smt. Radhica Sreeman, E.D (TEAMS), SAI
- 5. Sh. Pradeep Kumar, Deputy Secretary (Sports), MYA&S
- 6. Sh. Veerinder Pratap Project Officer (TEAMS), SAI
- 7. Sh. Satish Bagal Project Officer (TEAMS), SAI

Representative of Indian Golf Union (IGU) present in the meeting: -

1. Maj. Gen. Bibhuti Bhushan (Retd.), Director General, IGU

31/3/2021

2. Sh. Amandeep Johl, Coach, IGU

Jenns 3/3/2021

National Coaching Camps for Senior & Junior						
S. No	Purpose of the Coaching Camp	Composition of the Campers	Period	Total Days	Venue	Estimated Expenditure
1.	Camp in preparation for the Queen Sirikit Ladies Cup (Senior Women)	Players: 04, Coaches: 01, Support Staff: 01 Total: 06	July 2021	10	Delhi NCR	Rs. 3,14,200
2.	Camp in preparation for Australian Masters of the Amateur (Senior Men & Women Category)	Players: 13, Coaches: 01, Support Staff: 01 Total: 15	Dec. 2021	7	Delhi NCR	Rs. 5,96,310
			1		Total	Rs. 9,10,510

31/3/2021

Seemer, 31 3 202

S. No	Name of Training / Competition Abroad	Composition of the Participants		Period	Total	Venue	Estimated
		Players	Coaches	701104	Days	venue	Expenditure
	Inter	national C	ompetition	n for Senior			
1.	Queen Sirikit Ladies Cup 2021	3	1	August, 2021	6	Singapore	Rs. 5,17,600
2.	Thailand Amateur (Men & Women) 2021	6	1	Sept, 2021	6	Thailand	Rs. 5,93,640
3.	Australian Masters of Amateur (Men & Women)	4	1	January, 2022	8	Australia	Rs. 8,21,200
4.	Australian Amateur Championship	4	1	January, 2022	8	Australia	Rs. 5,76,300
5.	NSW Amateur Championship	4	1	January, 2022	7	Australia	Rs. 5,72,700
6.	African Amateur Championship	4	1	February, 2022	7	South Africa	Rs. 6,99,700
7.	South African Amateur Championship	4	1	February, 2022	7	South Africa	Rs. 4,55,200
8.	South African Stroke Play Championship	4	1	February, 2022	7	South Africa	Rs. 4,55,200
	Inter	national Co	ompetition	for Junior			
10.	APGC Juniors Golf Championship (Boys & Girls)	4	1	August, 2021	7	TBD	Rs. 5,99,250
11.	Thailand Junior Championship for Boys & Girls	4	1	Sept, 2021	7	Thailand	Rs. 5,18,250
12.	Duke of York Trophy	2	1	Sept, 2021	7	United Kingdom	Rs. 5,52,250
13.	Victorian Juniors for Boys & Girls	2	1	Dec, 2021	7	Australia	Rs. 5,52,250

31/3/2021

31/3/2021

Annexure 'C'

		National	Championship	os			
S.	Category	Expected number of States and UTs who will be participating	Per	riod	Total Days	Venue	Estimated Expenditure
No			From	То			
1.	Senior National Championship for Men and Women	29	December, 2021	December, 2021	7	TBD	Rs. 5,00,000
2.	Juniors National Championship	29	December, 2021	December, 2021	7	TBD	Rs. 7,00,000
3.	Sub-Junior National Championship	29	December, 2021	December, 2021	7	TBD	Rs. 10,00,000
						Total	Rs. 22,00,000

31/3/2021

J13/204

Annexure 'D'

	Kemunerat	ion for Coaches ઠ	& Support Staff (S	Senior & Junior)	
S. No	Name & Designation	Number	State	Monthly Salary	Total Salary (12 months)
1.	Mr. Amandeep Johl – National Coach	01	Delhi	Rs. 1,50,000	Rs. 18,00,000
2.	Mr. Sundeep Verma – Assistant Coach	01	Delhi	Rs. 50,000	Rs. 6,00,000
3.	Physiotherapist	01	Delhi NCR	Rs. 40,000	Rs. 1,60,000 (4 months/on pro rata basis)
				Total	Rs. 25,60,000

31/3/2021

Jan 3/3/202)

S. No.	Item Name	Unit Price	Quantity	Desired Make	Total Price
1.	Golf Balls	Rs. 4,300	175 doz	Titleist Pro V1x	Rs. 7,52,500
2.	Golf Shoes	Rs. 15,000	15	Footjoy/ Adidas	Rs. 2,25,000
3.	Golf T Shirts	Rs. 2,600	95	Callaway/ Adidas	Rs. 2,47,000
4.	Golf Trousers	Rs. 3,500	70	Callaway/ Adidas	Rs. 2,45,000
5.	Golf Sets	Rs. 1,80,000	10	Callaway/Titleist	Rs. 18,00,000
6.	Golf Performance Equipment	Rs. 16,00,000	2	Foresight GC Quad	Rs. 32,00,000
	Spe	orts Equipment (Consum	able & Portab	ole) for Juniors	
1.	Golf Balls	Rs. 4,300	55 doz	Titleist Pro V1x Balls	Rs. 2,36,500
2.	Golf Shoes	Rs. 15,000	10	Footjoy/ Adidas	Rs. 1,50,000
3.	Golf T Shirts	Rs. 2,600	75	Callaway/ Adidas	Rs. 1,95,000
4.	Golf Trousers	Rs. 3,500	50	Callaway/ Adidas	Rs. 1,75,000
5.	Golf Sets	Rs. 1,80,000	3	Titleist /Taylor Made	Rs. 5,40,000
				Total of Seniors & Juniors	Rs. 77,66,000

(Versida po(1)

July 1/3/2021